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Lucas
F = %
( , 530006)
N x(x+ l)(2x+ 1): 2])}/2 psgl(modg) N
(p.x.y)= (3, 1,1),(3,24,70),(11,49,105). Lucas
N x(x+ 1)(2x+ 1)= l))/”
, Lucas ,
0 156.7 A
1875 , Lucas
x(x+ (20 + 1) = 6y° (1)
(x,y)=(1,1),(24,70).1919  Watson ’ L1952
Ljunggren .1969 ,Mordell * Watson  Ljunggren
, , .1981 ., Guy’  Mordell ,
1985, ° :
1985 ! . 1990
s Lucas . 9 ) Lucas
s Lucas
1 Lucas
1 p , xt- 2py’= 1 p=3,x="7,y= 20.
2" 4 (v D)=z, 0+ (r+ D)= 2 (x,y,2)= (1,3,5).
3 " Pell xz— 2y2= 1 (xn,yn) N X n+ 2= 6xn+ 1— X n,
x1= 3, x2= 17, yn+ 2= 6y’n+l— yn, yl: 2, y2: 12
4 p ,

p’x’— 8= 1, p Z 1(mod8)
p=3,x=y=1 p=11,x= 3,y=35.
(2) (x.7). (px’+ 1)(pa’=1)= 8"

2000-11-08 (1966,

(2)

(px’+ Lpx*=1)= 2,
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(2) 3 4.

pxz— 1= 47, px2+ 1= 2 y =ts, (t,s) = 1, (3)
px’+ 1= 47, px®— 1= 2% y=1s, (t,s) = L. (4)
»Z1(mod8), (3) 2/t p=1(mods), : (4) (5 (6).
sT— 2U=— 1,2+ 1= x1, 2t - 1:])96%,96:%1%2, (5)
s 2'=- 1,2 - 1=x1, 2+ 1= pxi, x = xwoa. (6)
t s \ (5) 2 xi= 2t+ 1=- 1(mod4), . (6)
s= 1= x1= 1, p= 3,x2= 1. (2) p=3,x=y= 1. (2 x> 1
(x,y), x1= 2m+ 1, s= 2n+ 1. (6) ,
m'+ (m+ D=6, 0"+ (n+ 1)>= ¢, myn,t =1. (7)
2, (7) (m,n.1)= (1,3,5), (6) (p,x.y)=(113,35).
1 p ,
x(x+ 1)(22+ 1) = 2py?, p Z= 1(mod8) (8)
(prx-y)= (3.1,1),(3,24,70), (11,49,105) .
(8) (x,9). x(x+ 1) 2x+ 1 , 4  x(x+ 1)
= 0" (n=2) , (8) (9  (10).
W+ 1=, x(x+ 1) = 2p0v°, y= wv, (u,v) = 1, (9)
2¢ + 1= puz, x(x + 1) = W’ y= wv, (u,v) = 1. (10)
(9 u'- 2p(w)’=1, 1 (p.u,v)= (3,7, 10). ,
(p.x.y)=(3,24,70). (100 pu’- 8’= L
p# 1(mod8), 4 (pouv)= (3, 1,1), (11,3,35). (8)
(pox.y)= (3,1, 1), (11,49, 105).
2 ) :
x(x+ D(2+ 1) = 2py’, p = 1(mods) (11)
(p,xn,yn)= (p,Stz,Zuntnsn). J TR A
Snt2= Osut1— S, S1= 3, s2= 17, (12)
tnt2= Olas1— o, 1= 1, 2= 6, (13)
pur= 1662+ 1, p = 1(mod8). (14)
(11) (x.7). 1,
pu= 2+ 1, x(x+ 1) = 2°, y= uv, (u,v) = 1. (15)
p =1(mod8), 2 x. (15)
x+ 1= s, x= 2" v=rs, (r,s) = 1, (16)
= 2= 1, 2| r. r= 2
pul= 1600+ 1, 55— 8= 1, (s,1) = 1. (17)
3 aPo UsSs (12 (14). ) 1 Lucas

, 2 p=1(mod8)  (p.x.y)= (17,8, 6), (577,288, 204),
(665 857, 3321928235 416) 7, (1)
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2  Lucas
5" (18 (21),
x(x+ )=9y", x=1, y=1, n=2, (18)
x(x+ )= 29", x> 1,y> 1, n=3, (19)
x’— Dy’= %1, D= 4,816, (20)
x’— Dy’= %=1, D= 4,8 16. (21)
6' n=5, (22), (x,y)-
|x"~ Dy"| = 1, D= 4,8, 16. (22)
7° x'=py'=1(p ) (psxsy)=(5.3,4),(29,99,1820).
3 p ,
x(x+ D(2x+ 1) = y", n=2, (23)
x(x+ D(2+ 1)= py', n=2 (24)
, (23) , (29 (noprx.y)=(2,5,4,6),(2, 29,4 900,90 090).
(23) (v,9), (x(x+ 1), 20+ )= 1, x(x+ )= 0", 20+ 1= 9",y
= w, (wv)= 1. n=2, 5 x(x+ D=4 , (23) . (24)
(x,y)- x(x+ 1)=U" )
24+ 1= u,x(x+ 1) = pv'yy = w,(u,v) = L (25)
n=2 (25)  u'-4dpu’=1, 7 (pousv)= (5,3,2),(29, 99,
910), (24) (n,p,x,v)=1(2,5,4,6),(2,29,4 900,90 090). n=3 |,
(25) (26) (27).
2%+ 1= u'x=s"x+ 1= pt',y = ust, (26)
2+ 1= u'x= pi',x+ 1= s",y = ust. (27)
, 2 (2x+ 1) = 2(us)"  (2x+ 1) ( 2+ 2)=2(us)". n=3, (19)
4 p :
x(x+ D (20 + 1) = 2py", x> 1,n=3, (28)
n=3,5 n , nm>5
(28) (x.y), (29) (30) .
2+ 1= pu',x(x+ 1) = 2", y= w, (u,0) = 1, (29)
2+ 1= u'x(x+ 1) = 2pv",y = wv, (u,v) = 1. (30
5 (29 . on . (30) u- 8pu'= 1, 1
p=3.uf= 707210, =2, . n=4 , (28)
n , (30 (31) (32),(33), (34).
W+ 1= u,x=s,x+ 1= 2pt',y = ust, (31)
2+ 1= u',x= 2pt",x+ 1= s,y = ust, (32

= = %+ Ve pe = s, ('33)



3 : Lucas 245

W+ 1= u,x=pt',x+ 1= 25,y = ust. (34)
(31),(32)  2x(2x+ 1)= 2(us)"  (22+ 1)( 22+ 2)=2(us)", (19)
s (33).(34)  u'- 4= L. 5 Lu'-4s'= =1,40- 4°= %1
, (28) n= 3,5 . n> 5 ) 6 u'-4ds"= *1
, (28) n>5
Sp .
x(x+ 1)(20+ 1) = 4py", n=2. (35)
n , (nopa.y)=1(2,5.4,3),(2,29,4 900,45 045). n=3,5 ,
n> 5 ) .
(35 (x,5), (36)  (37).
W+ 1= u, x(x+ 1)= 4dpv", y= uv, (u,v) = 1, (36)
2+ 1= pu", x(x+ 1) = ", y= wv, (u,v) = L (37)
n=2 3 (p,x,v)=(5,4,3) (29,4900,45045). n=4 ,
(37) . (36) u- l6po'= 1, 7, p=5u’=3,07=1 p=
29, uZ= 99,0 7= 455, . =3 . (36),(37)  (38)  (39),(40),
(41),(42) (43).
W+ 1= u', x=s,x+ 1= 4pt", y = ust, (38)
W+ 1= u', x= 4dpt", x+ 1= s, y= ust, (39
W+ 1= u', x= 4", x+ 1= pt', y = ust, (40)
2%+ 1= u", x= pt", x+ 1= 45", y = ust, (41)
2%+ 1= pu', x= 4", x+ 1= ", y= ust, (42)
22+ 1= pu', x=s", x+ 1= 4", y = ust. (43)
(38),(39) 2x(2x+ 1)=2(us)” (2x+ 1)(2x+ 2) = 2(us)", . (40)
(43) u'- 8'==x1 - 4"= =1. 5 6 , 4 n= 3,5
, n>5 . , (35) n=3,5 , n> 5
6 p :
x(x+ 1) (20 + 1) = 8y’ n=3, (44)
n=3,5 4n , m> 5
(44) (x.5)> (45 (49).
2+ 1= u', x(x+ 1) = 8v", y= wv, (u,v) = 1, (45)
2+ 1= pu", x(x+ 1) = &", y= wv, (u,v) = 1 (46)
An, (45 u”- 32po'= L 1 p=3.u’=7,07=5 . (46)
(47) (48).
x+ 1= 5", x= 8", v= st (s,0)=1, (47)
x+ 1= 8", x=3s",v= st (s,t)= 1. (48)
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n o, (44) ;0 n=3 (45), (46) (49) (50), (51),(52),(53) (54).

W+ 1= u', x=s,x+ 1= 8pt", y = ust, (49)

2w+ 1= u', x= 8t', x+ 1= s, y= ust, (50)

W+ 1= u", x= 8" x+ 1= pt', y= ust, (51)

2w+ 1= u", x= pt', x+ 1= 8, y = ust, (52

W+ 1= pu,x= 8", x+ l=s,y= ust, (53)

W+ 1= pu',x=s", x+ 1= 8", y= ust. (54)

(49),(50) 20 (2x+ D)= 2(us)"  (20+ 1)(2x+ 2)= 2(us)", ; (51) (59
u"— 16s"= =1 s"— 8"= *1. 5 , 4 n=3,5 , ;o on>5

(44) n=3,5 , n>5

1 Lucas E. Problem 1 180[J]. Nour. Ann. Math., 1975, 4(2): 336 351
2 Watson C N. The problem of square pyramid[J]. Messnger of Math., 1919, (48): 1 22

3 Ljunggren W. New solution of a problem proposed by E. Lucas[J]. Norsk Mat. Tidskr., 1952,(34) : 65
72

4 . [M]. : ,1989.303 331

5 Guy R K. Unsolved problems in number theory[M ]. New York:Springer—Verlag, 1981. 25 31

6 , Mordell [J]. , 1985,30(7): 558 559

7 6y’= x(x+ 1)( 22+ 1) [J1. ,1985, (4): 107 116

8 . n(n+ 1)(2n+ 1) = 6m?[J]. , 1990, (2): 36 38

9 , . []]. ,1999, 14(3): 93 95

10 Ljunggren W. Solution compete de equation du sixsiem degree a deux indeterminees[J]. Arch. M ath.
Naturv., 1946, 48(7): 26 29

11 S .Pell x’= Dy’= %1 (1. ,2000,15(5):4 6

12 . GelondBaker [M]. : , 1998. 200 204

Generation of Lucas Confecture
Wang Yunkui

(Dept. of Math. & Comput. Sci., Guangxi Univ., 530006, Nanning)

Abstract By using method of elem entary number theory, the authovs prove that the diophantine equation x
(x+ 1) (2x+ 1)= 2py* has positive interger solutions (p.x.y)= (3,1,1),(3,24,70) and (11,49, 105) only if
the prime p# 1(mod8), thus a concise elementary solution to lucas conjecture will be obtained; they also
basically solve the diophantine equation x(x + 1) (2x+ 1)= Dy2.
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